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2 &), o Syt ufcat 2 3much a1e e foharm | 59 g8 Y g (8419 % : 2026) 3R g (89
=1 : 1172) = Rarad frar g1

B! AT T’ (YHTAT! <hl 9d FgAfd) &, dt s fagHi A Yfdertts o o Ira g1 R somr (94 dgafd)
Seetd fohaT €, S foh e, g+ e, 3R gl 3% Fo dffz samiel

SRIT : Sr-Tw’ (6/406), SI-T= ( 4/456), g JHaT (2/711).

AT ARG T TSl A HSTHI ThTdl (15/437) H eI

1/2


https://m.islamqa.info/hi/answers/48999

FTEATH U 3R IR
THEuTae e e de
I HETE O WA

"Sg §Td H ohis Ak Aol fch AMKIE & UfdehTth el SIeATg d31TAT <hl fchedT & ahidl § T Teh o (Ahl) 8, 3R
TS & e H Tt okt o oAl @ I8aR & . . 3R a8 o # 3R ST o Srarar 3= ot & (oft) enf

T g1" (TS & 1Y gAT g3T).

TR : UfeRTth T §aFH

et & SR & 31t 8 & o a5 ridl 8, arfore (sifard) et 8, Ramar sk 3 a1 7 gt (Srafq Swdhl 7w At
TS g1) af Ut Ffa o ag srfAand gt Siran 8, ifh 7l Geeteong seife @ Toord o A & @ "o aafh 3
3TATE JSTTEAT hl 3T (STHTATA) <hl 5T (H=1d) AT & I8 SIexATg JISMTAT chl SATSId (ST e, 3R o g
fth A IGch! ATHIATHT (TTHT) A hl 5T AT § Ig ITR! ATRATT 7 B | " (AT 39 797 ol T 9 ) 39
@ (519 T : 6696) A Rarad fwar 21

3R g9feIY foh IR ASraeetTg 91g A el : T Sieeig & UrieRr | & A Sifeferad (3% & Ud S1idT) & 999 it |
ATRRIE §UH h 3 Teh AU QdhIth et bl 151 AT Y| aF 3170 TeleenTg Sieife T Tood = ThedrT: "gH 370t
T T R 1" (g €= : 6697).
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" (fagrt ) 39 919 W 3whTes fohar & ok gfdets g=1d 8, <l R whet 3R arfie 78l 8, e 39 o A= a1
A R I 30 JWR At ax o, at Tt FRAfq & ag srfard gt Srar 81" (37 gfoR & a1a 991 §3).
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